1. Izracunati:

a) (2?2 —3z+2) =
b) (z— sinx + %)' =
c) (2z° — %x‘l - % 53)’ =
B (- 2V =
1 Ty,
€) (7 - %> =

a) ($26z)/ —

b) (lnxsinz) =

&) (V7 - 1)sina)

d) (Inz) =

e) (2tgx(sinz — ctgr))

d) ( ) =

x + 22

) 2 —arctgx .,
e =
1+ arctgz

4. Nadi izvode sledeéih funkcija:

a) f(z)=(z+2)°

b) f(x)=sin(2x —1)
) flx)=e'"

d) f(x) = sin’x

e) f(z)= sinz®

5. Nadi izvode sledeéih funkcija:

a) f(x)= (z*+32%+3)°

b F) = (@2 +1)

c) f(s)=+Vbs2—5—3

4 f(z)= (B2 —1)0VIT =5
e) flx)=

r+1
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Zadaci za vezbu (izvodi)

f) (sinz — cosx)

g9) (2tgr —Inz) =

h) (223 — 3ctgz) =

) l,

i) (2lnz — ;)

J) (et 2y =
f xsmxlna:)

) (

0 (- + jarctgr) =
) (arcsinzarccosx) =
) (Vzarcsinz) =

r o,
f) (%) =
xinz,,
9) (smx) N
1 1 ;L
R (- ) =
. arcsinr  sinx.,
i) (T ey
In(z+1) k) f(x)=tg(sinx)
) f(x) = /cosx
Va2 -3 m) f(z) = In(lnz)
n) f(w) = e
nj) flz)=va?-3z+2
2z + 3 1+x
\/m k) f(x)= arctg(l x)
= sin2z + cosbx ) f(x) = arcsin/x — esinwtcosz
= 3sin® x +tg/x 1j) flx)=1 (1i_z)
= (sinz + cosx)? m) f(z) = er +3a+1
= Varclgz + tgx n) f(z) =InvVa?+2+ /In(a? 4 2)



6. Nadi izvode sledec¢ih funkcija:

_ 2® —3x+1

2 +1 ) f(z) = 5arctg(2z + 7)€t

sinx + e*tgx

Inx +1 g) f(x) =2y/cosz +In(z? +1)

SINT — COSX

0 fle)= T h) ) = smette

. 3 :
SINT + COST o B

sin’x + 2xcosx
et +1

i) [f(z) = sin(v3z) — V3sinz



